1.(6 pts.) Let f(x) = 25 — 23 + 22. Find (f~1)'(2).

(a) 1/4 (b) 1/70 (c) 4 (d) 1/5
2.(6 pts.) Solve the following equation for z.
T°5" =5¢€” .
In5+ 2 2 In5+ 2
() v=1s ()@= 55 © *=T3
2In7 . .
(d) z= T (e) There is no solution.

70



3.(6 pts.) Find the derivative of

y = xl/x
(a) z72(1—Inz) (b) —zz3 (c)
(d) z=(ln(nz) —z72) (¢) zw 2
4.(6 pts.) Evaluate the following limit.

lim 2!/ .

7 linz(l —Inx)

Remark: Note the function is the same in both problems 3 and 4.

(a) 0 (b) e () 1 (d)

e (e)



5.(6 pts.) Find f/(z) for
f(x) = In(2* + x) + arcsin(e”)

(a) 2"’34—1_’_ 1 (b) 2x1n2+ e*
a
2%tz JI_eom 2"+ 1z 1+ e*
(0) ef"ln2+ e” (d) 2"31n2—|—1+ e”
C

27 +x /1 — 2e® 27 + «x V1 — 2=

ef”ln2+1+ e*
2+ e?r —1

6.(6 pts.) Which line below is the tangent line to the parameterized curve z = ¢t — cost,
y =1+ sint when t = 07

t int
(a) y=2x+2 (b) :ﬂ($+1) (¢) x = —1, a vertical tangent
t —cost
s s 1+ cost
= — — - 1
(@) y=352+3 © ¥v=Tme @Y



7.(6 pts.) Evaluate the following definite integral.

°1
/n—fda:.
1 X

() 5(1-272) () (1-32) @ Fe2-1)
(d) %(6—3 22— 1) (e) 3(1 o3 422
8.(6 pts.) Evaluate
.TZ
/ V9 — x2 da

1 9 . T
(a) 53@\/9 -2+ C (b) B [arcsm(:p/?)) - g} +C
() g arcsin(z/3) — ‘”—Vgg‘gﬂ] Lo () g {arcsin(x/?)) _ %} e

(e) 9arcsin(z/3) + C



9.(6 pts.) Evaluate

() In|e?+z—2[+C (b) 1n‘2(x_+12)' C
(z—1)

(¢c) m2z—-1]—-|z+2)+C (d) In o +C

() In (”; +_2)2 e,

10.(6 pts.) Find the Midpoint Rule approximation (using four intervals) of
4
/ z? dx .
0

(a) 22 (b) 64/3 (c) —> (d) 21 (e) =



11.(6 pts.) Find the arclength of y = 4 — 22%/2, for 0 < 2 < 27

() SV 1] (b)

20

3 V10

§[1w1—9] (c)
2

(d) 237[10\/1_0—1] (© 5-19vI9— 1]

12.(6 pts.) Find the center of mass of a plate with shape bounded below by the z—axis,
on the left by z = —1, on the right by x = 1, and above by the curve

_Je —1<z<0
Y= Ve 0<z<1.

e

(a) (0%) (b) (0,2(1—e1)) () (02(12__—:_12)>

o (05) e e

The area is 2(1 —e™1).




13.(6 pts.) Solve the initial value problem:

y =0B-22)1+y) y(1)=0.

14.(6 pts.) If 100 grams of radioactive material with a half-life of two days are present at
day zero, how many grams are left at day three?

100 100 100 100
NG (b) 73 (c) 213 (d) 173 (e) 50



15.(6 pts.) If the function y(x) satisfies the differential equation
2y —2y=2x—2
subject to the initial value y(1) = 1, what is y(2)?

(a) 5 (b) 4 (¢c) 3 (d) 2 (e) 1

16.(6 pts.) Which integral below computes the length of the parameterized curve
()=t +tand y(t) =t> —tfor 0 <t < 1.

(a) /1(t3+t)\/2+6t2—t4+25t8 dt  (b) /1(t5—t)\/t3+t5 dt

0 0

1 1
(c) / VI3 15 dt (d) / V2 + 612 — t4 4 255 dt
0 0

(e) /01(t5 —1)(3t* + 1) dt



17.(6 pts.) Which integral below gives the area inside the polar curve r = sin(36)7

T w/3
(a) % /O sin?(36) do (b) % / B sin?(36) do
(c) % /O ’ \/sin?(36) + 9 cos?(36) df (d) % /0 " sin2(36) do

(e) % /O 7 \/sin®(30) + 9 cos2(30) df

27"L

[e.9]
18.(6 pts.) Which statement below is true about the series Z ST
n

n=1

2’I’L

(a) nan;O Egn = 0 so the series converges.
2”7/
(b) lim ———— =1 so the series converges.
n—oo 13 + 2"
2n
(¢) lim ———— =1 so the series diverges.

n—oo mn3 4+ 2™

2n

(d) lim —5——- does not exist so the series converges.
n—oo n° 4 2"
27L
(e) lim ——— =0 so the series diverges.

n— 00 n3+2n

10



o0

19.(6 pts.) Sum the series Z ;W
n=1
25 3 5 96 50

(a) 2 (b) 29 () 3 (d) 25 (e) 11
20.(6 pts.) The interval of convergence of the series

f: (x+3)"

n=1 \/ﬁ
is
(a) [27 4] (b) (_17 1) (C) (_47 _2)

11



21.(6 pts.) Which series below absolutely converges?

(a) Z (—1)3nn!

n=1 n
@ 3 I

(="~

n—1
In(n + 1)

NE

3
-

(_1)n—1ﬂ_n

377,

22.(6 pts.) Which series below conditionally converges? These are the same series as

in problem 21.

(="t

1
In(n+1)

(—1)”_171-"

3’fl



23.(6 pts.) Find a power series for the function

() 2> (-
3 — z"
(d) 52(_1)712_”
n=0

24.(6 pts.) Which series below represents

(e @]
n=0

fi

n=0

’I’L

2n

(1/2> 2n

() >
ONY

n=0

sin x

(—1)”.1‘2”
n!

nl.2n+1

(=1
(2n)!

13




2
25.(6 pts.) Which series below gives the arc length of the curve y = % from x = 0 to

=17

(a) i (1/2> 2n1+2 (b) i (17/13> 2n1+1 ©) i (17/13) 2n1+2

n=0 \ " n=0 n=0
o Y (ML w© i () e

=0

3

14
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